





(B Sf4E4B18 = SHSEIA3A)

EAEIR
HEFBE FHA) REB) EREAN-B)

BIEEMR S X 3,820,000 3,820,000

EE A 0 0

RIRE 2,750,000 2,750,000
EBTHRENH 15,600,000 15,600,000
FHPH 3,650,000 3,650,000

{RERH 2,400,000 2,400,000
B 9,320,000 9,320,000
Tih-EYEEHI L 1,600,000 1,600,000
HBAETH 195,000 195,000
RSP 6,150,000 6,150,000
oS 400,000 400,000
HisHIH 385,000 385,000

M3 H 3,765,000 3,765,000

T OEHEIH 0 0
FHFEIH 6,897,000 6,887,000
OO I 0 0
HAEFMIBEERH 0 0
REITEMEQ) 593,519,000 593,519,000
FEEDESNIERG=1)-(2) 69,161,900 69,161,900

i | g |TERREERSEBRIRA 0 0
r e =d e SEEUELI N 0 0
2 * HiEESHASTEERHERA 0 0
fih HEER B AP & A 0 a
% PRER S S H I R AR A 0 0
=1 s asAZRA 0 0
O 0 0
® ¥ [RFESEARTREERS 65,139,541 65,139,541
: " I 78 ¥ P B AR 37 0 0
TR 0 0

22} EE Bl 0 0

FER R R B RS 0 0

3R












B e ¥ T E +
(B8 SH4F4818 F FHSEIHIR)

HEEEAL LER F- 11
EhiEFH FHMW RED) E8A)—B)

B EE T H 0

wIRE N H 0

[RFRE 0
ERTREIOH 0

F kR H 0
[RIRRIST 0
EfEH=H 0

T3 - BRI E AR 0
FRHAERIH 0
RFHRH 0
B 0
HaEXH 0

> 0
TOAMOBEHFEIH 0
TIFIRE H 0 0 0

F DM 0 0 0
FRAESEMERRIH 0
BEETHIHEHD) 0 0 0
FEEHE W EER)=(1-(2) 400 0 400

i | g [EREHFEBRIA 0 0 0
e B e N 0
E A R ESBAETSEERUBIRA 0
fsk R B F R AL A 0 0 0
% it R R N 0
S s ARIA 0 0 0
ol R P 0 0 0
®  [RIBERE AT SRETN 0 0
”; y EEEERSIH 0 0 0
T #hHRIF 0
YRGS H 0
HpER R i 3 i 0




‘ﬁﬁ Eifﬁi
(B $SM4E4B1E  F HHSEIAA)

Hef@EibEA KA ABR
HER A T H(A) REB) EEA-—B)
BERGHMIREIH 0

0 hoEREERGZH 0

I AR - AE B ORI 0

HEER B 3 HEH(S) 0 0 0

MRER R A EEE(6)=(4)-(5) 0 0 0

7 | yg [HLEAENRARA 0 0 0
RS M EER A 0

1t 4 IR BRI EEWARA 0
o EEEXAMBEALIA 0 0
- FOMDERIZELRA 0 0 0
o OO EBIZEDIA 0
S| |eomommmARO) D 0 0
* % |RIZEERH 0 0 0
z " BRI L E A 0
= BEEAMBAEIW 0 0
TOMOERHICEHEH 0 0 0
FOHOFECLEZTH 0

T OO FEE T EHE) 0 0 0
FOMOETHE S ZHOT)(B) 0 0 0
FiHEIH10) 0

L HRE SR E A (1 1)=(3)+{68)+{8)-(10) 400 0 400
BRI EEER(2) 0
LRI ERERODH12) 400 0 400










B2 WX T HEE

(B S4FE4B1A E SINEIRNA)

EfEIE A HER YHe—5
ErERE FHA) REB) ERA-B

BIEERE N 1,800,000 1,800,000
LB 0

[RERE 50,000 50,000
EHELEIH 600,000 600,000
FHHEH 2,100,000 2,100,000

{RRE > 1,600,000 1,600,000

B H 2,200,000 2,200,000

T - EAE AR 0
R4 FR 60,000 60,000

fREPR 2,100,000 2,100,000

B ER 50,000 50,000
b 45,000 45,000

S 160,000 160,000
TOhOEFEM 0

FHFIE 290,000 290,000
FDMOIIE 0 0
HRESMEARN T 0
BEIFERMEQ) 102,270,000 102,270,000
FETHESMAEEQ=(1-(2) 5,280,000 5,280,000

s | ug |TEFREMRSHBIEALA 0 0
B MR HFHEERA 0
g ~ REEEEAETEEEHEIRFEA 0
i R BB {5 B I AR A 0 0
% MRS HSIA 0
=1 |mmasgAseA 0 0
* MRS IR AT 0 0
® % |BEESEAETRGET L 5,304,000 5,304,000
: " EEEERSZE 0 0
TR ER{F 3 H 0
R 0
HHE R RS X 0

3R












;%iﬂ ]Rﬁfﬁgi

(B ST4E4B81E E ST5FIANHE)

HEEILEA HE= BeNEEEER
HEHAB FHWA) REB® EEW—B)
E{EERE ST 70,000 70,000
EERE 0
IE3RE S 0
E i E R 0
FHEHZH 0
{RIEFH 0
BEAZH 720,000 720,000
+ - P ELAE 0
MBI LRI 35,000 35,000
fR=FH 3 0
Ha 0
HEEIUH 40,000 40,000
MH 5,000 5,000
FOHMOEHEIH 0
FIHEEH 0 0
FOMOH 0 0
FIREFMIBEEZH 0
BHEFHIHFHE 4,752,000 4,752,000
EETHERNTERG)(1)-2) 948,000 948,000
s | g |TERREMRFHRBIEARA 0 0
s TEE R R FERI R A 0
® A RiEELEAETLEEHBUMEWA 0
fi HEER B S F I RN A 0 0
% it BRSO 0
S |ewasmAsRA 0 0
& MRER B {l IR A BT (4) 0 0
© 5+ [BiEREARTSEEES 0 0
: " EEEERGXL 0 0
Jand S10:} EE 0
IS S 0
HiFE R RS 0




(8 SH4FE4B1E E SHSEIAA)

HEmEIEA HiES EENESIRE RN
HERHA F H(A) REEB) ERA)-—-(B)
HERUHmSIEEH 0
F O fth D R E 2 {3 H 0
DA T A= A ORI 0
HE B B fif S 3 HABHS) 0 0 0
5% B {ff 4 A A IR X E $(6)=(4)—-(5) 0 0 0
% | gy [RIZEERBRA 0 0 0
ERERAT S| B E I ALA 0
it A 15 HE T FAST  REAR HR IR A 0
o EERSMBARIA 0 0 0
& ZOHOEBITEHINA 0 0 0
% ZOhOERIZLHIA 0
S zoomEBmAs) 0 0 0
5 % |[FRECAEENH 0 0 0
j; " BRI L EETS 0
- BERSMBAEIH 0 0
| FOOFM RO 0 0 0
ZOBOFHILDEH 0
| T it EB S HFHE) 0 0 0
FOUh O FIE EINEFRG)-(1)-8) 0 0 0
FiwEZHA0) 0
LHIE SN E B A EH11)=(3)+(6)+9)-(10) 948,000 0 948,000
TR EEE(2) 0
LHFEETHRESEBRE D) 948,000 0 948,000










E & REFHEE

(8 §f444R1H F FHSHFIAH)

HEELEA KR (EL D
HERE §2-10) HHE®B) ER(A)—-B)
EEERE T 950,000 950,000
HHEXH 0
IEHRE =M 700,000 700,000
EHERAEIH 7,000,000 7,000,000
FHHZH 600,000 600,000
RETHIZ N 500,000 500,000
Bfad=d 4,400,000 4,400,000
Tith- B E AR S 600,000 600,000
RO 40,000 40,000
RETRIZ M 1,750,000 1,750,000
o E 100,000 100,000
EREIW 100,000 100,000
M 1,800,000 1,000,000
FOMOBHEI 0
TP B 3,200,000 3,200,000
FOHOI 0 0
FREEMEEX 0
BEFBIHEN) 194,500,000 194,500,000
FETYHESRIEEHO=D-(2) 33,600,500 33,600,500
i | g [MEREARSHAIRIRA 0 0
= e B B S BB AR A 0
B * BiEE R EASTRERHHERA 0
ff SR i S AR A 0 0
% SR BAH S T I RILA 0
L1 |miaesasinn 0
ol I P T ) 0 0
5 % |BEEEEASTRREIN 32,388,000 32,388,000
: " BEEERGET 0 0
b b L o 0
B 45 3 0
HEERE IS H 0

3R












B R Y FHEE

(B $aFaB1e  E SISE3AE

HEEAEA HES FeE R
HEHE FEA REB ER(M—B)
EEEN# 3 1,000,000 1,000,000
=B I 0
[RIRE I 2,000,000 2,000,000
RN 8,000,000 8,000,000
FHHIH 950,000 950,000
fRIEH 300,000 300,000
BEHHH 2,000,000 2,000,000
it - B E R 1,000,000 1,000,000
i ARRXH 60,000 60,000
fRSPHIH 2,300,000 2,300,000
HnEX 250,000 250,000
i pg= ] 200,000 200,000
MIH 2,600,000 2,600,000
FOMOFEHE T 0
HIFR I 3,407,000 3,407,000
FO O3 H 0 0
FIREF MR 0
BHEIEBTHEN?) 291,997,000 291,997,000
FEEHESINI O 29,333,000 29,333,000
i | gp PERCEREFWEEINA 0 0
5 PSR R F B R IR A 0
B ~ RiEEEEAETEEERDIZIA 0
fiw T 2% B i 27 Bl AR A 0 0
# e CES PN 0
B mibssmAiRA 0
o [ememsmAs® 0 0
b 3 |RREREART M 27,447,541 27,447,541
”; . &l E E BERR 3 0 0
TR 0
Fed vk g 0
EERE R TR G 3 0

3H






